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1
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function xdd = fcn(x,T,xds,para)

D=zeros (6,1) ;

D=[0.072* (xds (1)) "2; -

0.05* (xds (2))"2;0.065* (xds (3))72;0.065* (xds(4))"2;0.001* (xds (5))"2;0.0001*(x
ds (6))"2];

xdd=zeros (6,1) ;

Ll=para(l
L2=para (2
M=para (3) ;
Jl=para (4
J2=para (5
J3=para (6
g=9.81;
$#codegen
p x (4 )
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+sin(y)*sin(xr))-D(1)) /M;
—cos (y) *sin(r))-D(2)) /M;

D(3))/M;
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Fig 4 Vertical motion: (T1. T2, T3. T4)=(1. 1. 1. 1).
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Fig. 7. Yawing motion: (T1. T2. T3. T4)=(06.04. 0.6, 0.4).
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Fig. 9. Rolling motion: (T1. T2, T3. T4)=(04.0.7.04.0.7).
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function r = fcn(t)
r=zeros (4,1);
$#codegen
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z controller U

function [ul, tetad] =
zeta=zeros (49,1);

fcn (x,xd, r, rd, rdd, para, teta)

ya=x(5) ;

$System parameters
M=para (3) ;

g=9.81;

Control parameters:

b= (cos (ya) *cos (rol) ) *g/M;
Ac=[0 1;-1 -2];
bc=[0;b];

Q=[10 0;0 10];
P=[15 5;5 5];
Pn=P(:,2);
gama=2;
Mx=0.2;
Mtet=3;
blL=0.5;
k=[-Ac(2,2)

-Ac(2,1)]1";

o\°
o\°

o\°

s #codegen

$Error on Z and ZD
z=r (1)-x(3);
zd=rd (1) -xd (3) ;

SS=[NB (z) *NB (zd) ,NB (z) *NM (zd)
(zd) ,NB(z) *PB(zd), ...

NM (z) *NB (zd) ,NM(z) *NM (zd) ,NM(z) *NS (zd)
yNM(z)*PB(zd), ...

NS (z) *NB (zd) ,NS (z) *NM (zd)
yNS(z)*PB(zd), ...

,NS (z) *NS (zd)

Z(z)*NB(zd),Z(z)*NM(zd) ,Z(z) *NS(zd) ,Z(z

BB (zal) , o o o

PS(z) *NB (zd) , PS (z) *NM (zd)
,PS(z)*PB(zd), ...

, PS(z) *NS (zd)

PM(z) *NB (zd) , PM(z) *NM (zd)
,PM(z) *PB (zd), ...

, PM(z) *NS (zd)

PB(z) *NB (zd) , PB(z) *NM (zd)
,PB(z)*PB(zd) ];
% Z controller:
for i=1:49

%% for 49 rule,

, PB(z) *NS (zd)

zeta is evaluated

,NB (z) *NS (zd)

,NM (z

,NS (z

,PS (Z

,PM(z

,PB(z

yNB(z)*Z(zd) ,NB(z) *PS (zd) ,NB(z) *PM

) *Z (zd) ,NM(z) *PS (zd) ,NM(z) *PM (zd)

) *Z (zd) ,NS (z) *PS (zd) ,NS (z) *PM (zd)

) *Z(zd) ,Z(z) *PS(zd) ,Z(z) *PM(zd) ,Z(z) *

) *Z (zd) ,PS(z) *PS (zd) ,PS (z) *PM(zd)

) *Z (zd) ,PM(z) *PS (zd) ,PM(z) *PM (zd)

) *Z (zd) ,PB(z) *PS (zd) ,PB(z) *PM (zd)
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function [u2,tetad] = fcn(x,xd,r,rd,rdd, teta,para)

u=zeros (4,1);
zeta=zeros (49,1);

o\
o\

$System parameters
Jl=para(4);

g=9.81;

%% Control parameters:
b=1/J1;

Ac=[0 1;-1 -2];
bc=[0;b];

Q=[10 0;0 10];




P=[15 5;5 5];
Pn=P(:,2);

gama=2;

Mx=0.2;

Mtet=3;

bL=0.5;

k=[-Ac(2,2) -Ac(2,1)]1"';

o°

HH= oo |

s#codegen

$Error on pitch and pitchD

pitch=r (2)-x(4);

pitchd=rd (2)-xd(4) ;

SS=[NB (pitch) *NB (pitchd) ,NB (pitch) *NM (pitchd) ,NB (pitch) *NS (pitchd) ,NB (pitch)
*Z (pitchd) ,NB (pitch) *PS (pitchd) ,NB (pitch) *PM (pitchd) ,NB (pitch) *PB (pitchd), ..

NM (pitch) *NB (pitchd) ,NM(pitch) *NM (pitchd) ,NM(pitch) *NS (pitchd) ,NM(pitch) *Z (p
itchd) ,NM(pitch) *PS (pitchd) ,NM(pitch) *PM (pitchd) ,NM(pitch) *PB (pitchd), ...

NS (pitch) *NB (pitchd) ,NS (pitch) *NM (pitchd) , NS (pitch) *NS (pitchd) ,NS (pitch) *Z (p
itchd) ,NS (pitch) *PS (pitchd) ,NS (pitch) *PM(pitchd) ,NS (pitch) *PB (pitchd), ...

Z (pitch) *NB (pitchd) , Z (pitch) *NM (pitchd) , Z (pitch) *NS (pitchd) , Z (pitch) *Z (pitch
d) ,Z (pitch) *PS (pitchd), Z (pitch) *PM(pitchd) , Z (pitch) *PB (pitchd), ...

PS (pitch) *NB (pitchd) , PS (pitch) *NM(pitchd) , PS (pitch) *NS (pitchd) , PS (pitch) *Z (p
itchd), PS (pitch) *PS (pitchd) , PS (pitch) *PM(pitchd) , PS (pitch) *PB (pitchd), ...

PM (pitch) *NB (pitchd) , PM(pitch) *NM (pitchd) , PM(pitch) *NS (pitchd) , PM(pitch) *Z (p
itchd), PM(pitch) *PS (pitchd) ,PM(pitch) *PM(pitchd) , PM(pitch) *PB (pitchd), ...

PB (pitch) *NB (pitchd) , PB(pitch) *NM (pitchd) , PB (pitch) *NS (pitchd) , PB(pitch) *Z (p
itchd) , PB(pitch) *PS (pitchd) , PB (pitch) *PM(pitchd) , PB (pitch) *PB (pitchd) ];
% Z controller:

for i=1:49

%% for 49 rule, zeta is evaluated

zeta (1)=SS (i) /sum(SS) ;

end

e=[pitch pitchd]"';

tetad=gama*e'*Pn*zeta;

uc=teta'*zeta;

V=0.5%e'*P*e;

if V <0.8

end

us=I*sign (e'*P*bc) * (abs (uc) +1/bL* (-0.3543372*xd (4) "2+abs (k'*e)));
if us>10

us=0;

end

u2=uc+us;

end
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function [u3,tetad] = fcn(x,xd,r,rd,rdd,para, teta)

zeta=zeros (49,1);

o\°
o\°

$System parameters
J2=para (5) ;

%% Control parameters:
g=9.81;

b=1/J2;
Ac=[0 1;-1 -2];
be=[0;b];

0=[10 0;0 107;

P=[15 5;5 5];
Pn=P(:,2);

gama=2;

Mx=0.2;

Mtet=3;

bL=0.5;

k=[-Ac(2,2) -Ac(2,1)]"';

o\°

o\
H o0 |

codegen

$Error on Roll and RollD
roll=r(3)-x(5);

rollD=rd (3)-xd (5) ;




SS=[NB(roll) *NB(rollD),NB(roll)*NM(rollD),NB(roll)*NS (rollD),NB(roll)*Z (roll
D) ,NB(roll)*PS(rollD),NB(roll)*PM(rollD),NB(roll)*PB(rollD), ...

NM(roll) *NB (rollD),NM(roll) *NM(rollD),NM(roll)*NS (rollD),NM(roll)*Z (rollD),N
M(roll) *PS (rollD),NM(roll) *PM(rollD),NM(roll) *PB(rollD), ...

NS (roll) *NB (rollD),NS (roll) *NM(rollD),NS(roll)*NS (rollD),NS(roll)*Z(rollD),N
S(roll) *PS(rollD),NS(roll)*PM(rollD),NS(roll)*PB(rollD), ...

Z (roll) *NB(rollD),Z(roll)*NM(rollD),Z (roll)*NS(rollD),Z(roll)*Z(rollD),Z(rol
1) *PS(rollD),Z(roll) *PM(rollD),Z(roll) *PB(rollD), ...

PS (roll) *NB(rollD),PS(roll) *NM(rollD),PS(roll)*NS(rollD),PS(roll)*Z(rollD),P
S(roll) *PS(rollD),PS(roll) *PM(rollD),PS(roll)*PB(rollD), ...

PM(roll) *NB (rollD) ,PM(roll) *NM(rollD),PM(roll) *NS (rollD),PM(roll)*Z(rollD),P
M(roll) *PS(rollD),PM(roll) *PM(rollD),PM(roll) *PB(rollD), ...

PB(roll) *NB (rollD),PB(roll) *NM(rollD),PB(roll)*NS (rollD),PB(roll)*Z(rollD),P
B(roll) *PS(rollD) ,PB(roll) *PM(rollD),PB(roll)*PB(rollD)];
% Z controller:

for 1i=1:49

%% for 49 rule, zeta is evaluated
zeta (1)=SS (i) /sum(SS) ;

end

e=[roll rollD]"';
tetad=gama*e'*Pn*zeta;
uc=teta'*zeta;

V=0.5%e'*P*e;

if Vv <1

I=1;

else I=0;

end
us=I*sign(e'*P*bc) * (abs (uc) +1/bL* (-0.3543372*xd (5) "2+abs (k'*e))) ;
u3=uc+us;

end

function y=NB (x)

y=exp (- (x+2) *2) ;

end

function y=NM (x)
y=exp (- (x+1.33)"2) ;

end

function y=NS (x)
y=exp (- (x+0.66)"2) ;

end

function y=Z (x)

y=exp (- (x+0) *2) ;

end

function y=PS (x)
y=exp (- (x-0.66) "2) ;

end

function y=PM (x)




y=exp (- (x-1.33)"2);
end

function y=PB (x)
y=exp (- (x-2)"2);

end
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function [u4,tetad] = fcn(x,xd,r,rd, rdd, para, teta)

zeta=zeros (49,1);

o o
)

3$System parameters
J3=para (6) ;

%% Control parameters:
g=9.81;




b=1/J3;
Ac=[0 1;-1 -21;
bc=[0;b];

Q=[10 0;0 107];

P=[15 5;5 5];
Pn=P(:,2);

gama=2;

Mx=0.2;

Mtet=3;

bL=0.5;

k=[-Ac(2,2) -Ac(2,1)]"';

o\

HH= oo ||

o\

codegen

$Error on Z and ZD
yaw=r (4) -x (6) ;
yawd=rd (4) -xd (6) ;

SS=[NB (yaw) *NB (yawd) ,NB (yaw) *NM (yawd) ,NB (yaw) *NS (yawd) ,NB (yaw) *Z (yawd) ,NB (ya
w) *PS (yawd) ,NB (yaw) *PM (yawd) ,NB (yaw) *PB (yawd) , . ..

NM (yaw) *NB (yawd) ,NM (yaw) *NM (yawd) ,NM (yaw) *NS (yawd) ,NM (yaw) *Z (yawd) ,NM (yaw) *P
S (yawd) ,NM (yaw) *PM (yawd) ,NM (yaw) *PB (yawd) , . . .

NS (yaw) *NB (yawd) , NS (yaw) *NM (yawd) , NS (yaw) *NS (yawd) , NS (yaw) *Z (yawd) , NS (yaw) *P
S (yawd) , NS (yaw) *PM (yawd) ,NS (yaw) *PB (yawd) , . . .

Z (yaw) *NB (yawd) , Z (yaw) *NM (yawd) , Z (yaw) *NS (yawd) , Z (yaw) *Z (yawd) , Z (yaw) *PS (yaw
d), Z (yaw) *PM (yawd) , Z (yaw) *PB (yawd) , . ..

PS (yaw) *NB (yawd) , PS (yaw) *NM (yawd) , PS (yaw) *NS (yawd) , PS (yaw) *Z (yawd) , PS (yaw) *P
S (yawd) , PS (yaw) *PM (yawd) , PS (yaw) *PB (yawd) , . . .

PM (yaw) *NB (yawd) , PM (yaw) *NM (yawd) , PM (yaw) *NS (yawd) , PM (yaw) *Z (yawd) , PM (yaw) *P
S (yawd) , PM (yaw) *PM (yawd) , PM (yaw) *PB (yawd) , . . .

PB (yaw) *NB (yawd) , PB (yaw) *NM (yawd) , PB (yaw) *NS (yawd) , PB (yaw) *Z (yawd) , PB (yaw) *P
S (yawd) , PB (yaw) *PM (yawd) , PB (yaw) *PB (yawd) ] ;

% Z controller:

for i=1:49

%% for 49 rule, zeta is evaluated

zeta (1)=SS (i) /sum(SS) ;

end

e=[yaw yawd]';

tetad=gama*e'*Pn*zeta;

uc=teta'*zeta;

V=0.5%e"'*P*e;

if Vv <1

I=1;

else I=0;

end

us=I*sign (e'*P*bc) * (abs (uc) +1/bL* (-0.3543372*xd (6) "2+abs (k'*e))) ;
ud=uc+us;

end




function
y=exp (-0.
end
function
y=exp (-0.
end
function
y=exp (-0.
end
function
y=exp (-0.
end
function
y=exp (-0.
end
function
y=exp (-0.
end
function
y=exp (-0.
end

y=NB (x)
9% (x+2) "2) ;

y=NM (x)
9* (x+1.33)"2);

y=NS (x)
9* (x+0.66) *2) ;

Y=2 (%)
9* (x+0) *2) ;

y=PS5 (x)
9* (x-0.66) "2) ;

y=PM (x)
9% (x-1.33)"2);

y=PB (x)
9% (x=2)"2) ;

Sealisd Joo a5 0,5 o )18 dile 0,50 T4 s T3 T2 . T1 5 Ssb ululpUd 5u3 (U2 (UL aculze b colys (o

N
N
—pu3
N

ul

13,5 (oo Jlo) s

E Scope

Fcn

4 1)
fen T
ud
para para
From27
noise
upper bound noise "4 AT AB Functiorb
function T = fcn(ul,u2,u3,u4d,para,noise)
$#codegen

Ll=para (1

);




L2=para(2);

T=zeros (4,1) ;

noise =noise *rand;

[ul,u2,u3,ud];

T(l)=-(5*L1*u3 + 5*L2*u2 - 5*L1*L2*ul - L1*L2*u4d)/(20*L1*L2)+noise;
T(2)=(5*L1*u3 - 5*L2*u2 + 5*L1*L2*ul - Ll1*L2*u4)/(20*L1*L2)-+noise;
T(3)=(5*L1*u3 + 5*L2*u2 + 5*L1*L2*ul + L1*L2*u4)/(20*L1*L2)+noise;
T(4)=-(5*L1*u3 - 5*L2*u2 - 5*L1*L2*ul + L1*L2*u4d)/(20*L1*L2)+noise;
for i=1:4

if T(1)>7

T(i)=7;

end

end
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